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Question Numbers : (1 to 5)
Question Label : Comprehension



The following table shows the number of people (in lakhs) living in five different cities A-E
along with the ratio of number of people in three different age groups I, IT and IIT among them.
People are classified in three age groups as Group-I: 0 to less than 21 years; Group- IT: 21 to less
than 41 years nd Group-IIl: 41 years and above. Based on the data in the table, answer the
questions that follow,

City- wise Number of People
Ratio of Number of people in Age-groups
City Number of people (in lakhs)
I -1
A 144 1232
B 16 r33
C 192 1713
D 128 3:1:4
E 12 gt 0 |

Sub questions

Question Number : 1 Question Id : 34212314684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is the ratio of the number of people of age group-I of city A and D together to the number
of people of age group-I of city C and E together?

56 53

2.1

Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212314685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Number of people in age group Il of city D is % more than that of age group II of city
B.

1. 7%

t‘ilof
i

b

2
63%

el

4. 6%

Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212314686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The difference between the total number of people in age group II of city A and B together and
age group III of city C and E together is

1. 2 lakhs
2.1.2 lakhs
3. 2.4 lakhs

4. 0.8 lakhs

Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212314687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Number of people of age group I is more than 4 lakhs in exactly city/cities.

|. one
2. two
3. three

4. four
Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212314688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For city C, if the number of people who will turn 21 years of age next year is 16000; the number
of new born will be 32000, and the number of people in age group III will remain the same, then
what will be the new ratio of people in different age groups?

1.31:31:60
2.31:32:60
3.31:32:36

4.21 :23:35
Options:
1.1
2.2
3.3
4.4

Question Id : 34212314683 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension
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A 114 1:3:1
B 16 2323
C 192 1-1:2
D 128 314
E 1 1:3:1

Sub questions

Question Number : 1 Question Id : 34212314684 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TEX A R D DI U T FAICThR 31 - a7l - 13 ] bl T T IR € 3R E ] e
311 o ) b ST Y ST fhiefi g 2

4.3:2
Options :
1.1
2.2
3.3
4.4

Question Number : 2 Question Id : 34212314685 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 6%
Options :
1.1
2.2
3.3
4.4

Question Number : 3 Question Id : 34212314686 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

6 A 3 B e 317G o 11 b il o] e TGN T W0t ¢ R E 1 fcrep ofrg
111 S QI 1 o G b il bt iR g

1.2¢d9

3.24 19

4.0.8 ¢lig
Options :
1.1
2.2
3.3
4.4

Question Number : 4 Question Id : 34212314687 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



I IHAM B YSIAG_ SR/ E H 4 dRa Y 3P 6
1. U
2.ql
3.dH
4. 9R

Options :
1.1
2.2
3.3
4.4

Question Number : 5 Question Id : 34212314688 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TR € (o7, T el a4 2.1 T8 1 17 o i+ et vl bl TR 16000 8, il ol e
32000 BITH 4T 3T T 1 & AT bl T Gt 1 1t <o, fafvrer 3img ol b i bt
T ST 1 B 2

1.31:31:60
2.31 +32 260
330532056

4. 2122825
Options :
1.1
2.2
3.3
4.4
Sub-Section Number : 2

Sub-Section Id : 342123577
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 34212314689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following tool is used to create pre and post-session polls to gauge students learning
from each session?

1. Mentimeter
2. Github

3. Plotagon

4. Labster

Options :
1.1
2.2
3.3
4.4

Question Number : 6 Question Id : 34212314689 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T 9§ fauret S &1 G o 6 T @ Y - ¥ HAG o o o fort F o/ Ui
T U BT TN T el 2

| Hfewiey

2. filegd
3. T

4. cfefcX
Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212314690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The style that involves a student's tendency to take more time to respond on the accuracy of
answers is known as:

1. Impulsive style
2. Surface style
3. Reflective style

4. Manipulative style

Options :
1.1
2.2
3.3
4.4

Question Number : 7 Question Id : 34212314690 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

w@fﬁmﬂﬁﬁwﬁﬁaﬂwmw&ﬁmﬁ%@mwﬁﬁwﬁ
gicl G, I N DI I § 2

1. 3D el
. Tefe! et
3, fele et
1. OGS el
Options :
1.1
2.2

3.3
4.4

Question Number : 8 Question Id : 34212314691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“If a student gets a part time job in an architect's office and applies what was learnt in geometry
class to help the architect analyze a spatial problem that is quite different from any problem the
student encountered in geometry class™ is an example of learning?

. Near transfer
2. Forward-reaching transfer
3. Low- road transfer

4, Far transfer
Options :
1.1
2.2
3.3
4.4

Question Number : 8 Question Id : 34212314691 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. e 30

2. ST IR
3. Fg - sjo
4. QR

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212314692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LIST1 LISTII
(ICT Tools) (Example)
A |Learning Management System (LMS)| L | Zoom
B. | Virtual Reality II. |Canvas
C. | Video Conferencing III. | Audacity
D. |Podcast IV. | Virbela

Choose the correct answer from the options given below:

1. A-1IV, B-1, C-II, D-1II

3

CA-L B-III, C-1IV, D-II

sl

. A-II, B-1IV, C-1, D-I11

4. A-IIL B-11, C-I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 9 Question Id : 34212314692 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-1, C-II, D-III
2. A-1, B-III, C-1IV, D-11
3. AL B-1V, C-1, D-III

4. A-III, B-1I, C-1, D-1IV

Options :
1.1
2.2
3.3
4.4

Question Number : 10 Question Id : 34212314693 Question Type : MCQ Option Shuffling
Correct Marks : 2 Wrong Marks : 0

Which of the following is an example of positive-transfer of learning?
1. Mastering algebra helps in understanding calculus.
2. Learning to play piano makes it more difficult to learn the violin.
3. Knowing how to drive a car makes it harder to learn how to ride a bicycle.
4. Learning to speak French hinders learning Spanish.

Options :
1.1
2.2
3.3
4.4

:No



Question Number : 10 Question Id : 34212314693 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 11 Question Id : 34212314694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

A quantitative research would be mainly concerned with

. measurement
causality
context

. replication

Onwp

Choose the correct answer from the options given below:

1. A. B and C Only

[

. A, B and D Only
3.B, C and D Only

4. A. C and D Only

Options :
1.1
2.2
3.3
4.4



Question Number : 11 Question Id : 34212314694 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fedt aRATITES MY BT WIHR Td: FUfaRad I fe=d gime

A, HIUA
B. HRUMI
c. g4

D. Ufdpid
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[

" Hdd A, B3RD
3. Hdd B, C 3ARD
4. hdd A, C 3ARD

Options :
1.1
2.2
3.3
4.4

Question Number : 12 Question Id : 34212314695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The criterion of ‘credibility” in qualitative research 1s equivalent to which of the following criteria
in quantitative research?

1. external validity
2. internal validity
3. objectivity

4. reliability

Options :
1.1
2.2



3.3
4.4

Question Number : 12 Question Id : 34212314695 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TS Y | T 1 WSS, e Sty ¥ Hgiad o ards & anga giag 2
1, ST 4T
2. 3R deal
3. TR
4. oyt

Options :
1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212314696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify correct statements about content analysis.

A. The main vse of content analysis has been in the examination of printed texts and
documents.

B. Content analysis lacks transparency.
C. Coding is crucial in content analysis.
D. It is almost impossible to devise coding manuals that do not entail some interpretation on the

part of coders.
Choose the correct answer from the options given below:
I.A,Band C Only
2.B, Cand D Only

3.A, Cand D Only

4. A, Band D Only

Options :



1.1
2.2
3.3
4.4

Question Number : 13 Question Id : 34212314696 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212314697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The numerator and denominator degrees of freedom are used in which of the following test-
statistic in hypothesis testing?

L.t
2E

3.£

4, ;13 (chi square)

Options :
1.1
2.2
3.3
4.4

Question Number : 14 Question Id : 34212314697 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Yo eHIAD Wie H FgfaRad g Wie - TRl H 3 3R g A WeAdl @l dliedl
&1 I ol ST 2

L.t
2.F

3.

4, yF (chi square)

Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212314698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Sharpness of the peak of a statistical distribution is represented by

1. Kurtosis

(i)

. Skewness
3. Mean

4. Median
Options :
1.1
2.2
3.3
4.4

Question Number : 15 Question Id : 34212314698 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fop i eI faer o e ol ceurel bt Fmferfed forep grT wefia fopar ot 2

1. debdl HIAT
2. dYH]
3. HY

4, AT

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212314699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A symbol that represents an idea or thought in non-verbal communication is referrred to as

1. Hidden symbol

2. Effective symbol
3. Abstract symbol
4. Ideational symbol

Options :
1.1
2.2
3.3
4.4

Question Number : 16 Question Id : 34212314699 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

%Wﬁm@ﬁwﬁia‘?eﬁwmm 3p24a] foaR (i) B MU B3 Tl Udidh dgaldl

. T3d Udid
2. YHId! i
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4, GRIOTHD Yilidh
Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212314700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In any conventional media, the point of content production and the point of consumption involve

. Temporal separation

2. Imaginary hurdles

3. Free marketing

4. Technological over- dependence

Options :
1.1
2.2
3.3
4.4

Question Number : 17 Question Id : 34212314700 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

febll Ul wifean o fawa Wl & Sare (dhide TisaRr) o fdg qurguyi o fig
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Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212314701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What do people basically want to extract from the communicated message?

1. Compulsions

2. Meaning

3. Synergy

4. Behavioural pattern

Options :
1.1
2.2
3.3
4.4

Question Number : 18 Question Id : 34212314701 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AT YU Yo= 9 gela: 1 sy [HabTeHl drgd § 2
1. Sreard
3y

3. ggfhar
4. FdgRIH® UfdHH

Options:
1.1
2.2
3.3
4.4

[

Question Number : 19 Question Id : 34212314702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Making way for technologies of automation is transformation of modern society

1. Cyber-nation
2. Mechanical

3. Political

4. Artificial
Options :
1.1
2.2
3.3
4.4

Question Number : 19 Question Id : 34212314702 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212314703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the early stages of development, broadcast media were marked by

1. Positive communication

(i)

. Negative communication
3. One-way communication
4. Two-way communication

Options :
1.1
2.2
3.3
4.4

Question Number : 20 Question Id : 34212314703 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212314704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



If a person travels in a car at a sped of 36 kimv/hour, then he will reach his destination on time. He

covers half the journey in (4/5 ) time. What should be his speed for the remaining part of the
journey so that he reaches his destination on time?

L. 80 knmv'hour
2. 75 km/hour
3. 90 km/hour
4. 85 km/hour

Options :
1.1
2.2
3.3
4.4

Question Number : 21 Question Id : 34212314704 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tl IS e 36 Tl / 1 @1 11d U U SR U 6 Xl o, dll g (0 Tided WAy U
TG | g ST St T (4/5)d W0 H 0 Xl 1 310 7ol TR 9HY ¥ U & fofu
01 IR St G R 7 R ST e I

1. 80 fobHt/ ¢
275 fobHlt/ ¢
3.90 fopelt/ ¢
4,85 fHl /¢

Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212314705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Let L and M be the sum and average of four consecutive odd mumbers (a, b. ¢ and d) respectively,

and, P and Q be the sum and average of three consecutive even numbers (x, y and z) respectively.
If M= Q-6 and P=L-16, then M=

1.32
2.34
3.36

4.30
Options :
1.1
2.2
3.3
4.4

Question Number : 22 Question Id : 34212314705 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I b TR AT fa FI3M (a, b, ¢ 3R o) T AT R A AL L 3R Mg 7T i
SHRTC GH TS (x, v 3R z) BT A 3R R HA: P 3R Q B
Ti¢ M= Q-6 3R P=L-16, I M=

1.32

2.34
3.36

4.30

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212314706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Three positive numbers are in the ratio 2 : 3 : 4. If the sum of their squares is 2349, then the
numbers respectively are

1. 14, 21 and 28
2. 18,27 and 36
3.16,24 and 32

4. 12,18 and 24

Options :
1.1
2.2
3.3
4.4

Question Number : 23 Question Id : 34212314706 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i ST ST 2+ 3+ 4 o ST H 1 e 3T vl b AT 2349 8, o SRETd 6 il

1. 14.21 3R 28
2.18,27 3R 36
3.16. 24 3R 32

412,18 3R 24

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212314707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In a certain coding scheme the word ‘SCHOLAR is coded as “TEKSQGY". In the same coding
scheme, the word *GREEN’ will be coded as

1. ITGGP
2. HTHIS
3.EPCGP
4, JUHHQ

Options :
1.1
2.2
3.3
4.4

Question Number : 24 Question Id : 34212314707 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o] o TS H *SCHOLAR WG 1 “TEKSQGY' & U H fied b1 T §1 381 e
TioT H, *GREEN” Y16 ! frg 0 | i i o 2

1. ITGGP
2. HTHIS
3. EPCGP
4, JUHHQ

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212314708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In what time will a sum of money double itself at the rate of 12.5% per annum simple interest?

1. 10 years
2. 8 years
3. 6 years
4. 12 years

Options :
1.1
2.2
3.3
4.4

Question Number : 25 Question Id : 34212314708 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

qIftch WL SIS B 12.5% Bl G Y Dlg SR oo T 1 g7IHI gl <o
L 109y

2.8y
3604
4. 127N

Options:
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212314709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



*Abhay’s mind is a cave, deep, dark and full of bats." Which of the following is correct about the
above statement?

L. It contains analogical argument.
2. It is a valid and sound argument.
3. It contains analogy.

4, Tt 1s a valid but not a sound argument.

Options :
1.1
2.2
3.3
4.4

Question Number : 26 Question Id : 34212314709 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

34 T HT U 1T g, W T34, HbRAd 3R Taest ¥ wil ¢ Fafifad H e i
PYT T ¢ 2
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Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212314710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following terms in order of decreasing in intension?

A. Baseball player
B. Athlete

C. Fielder

D. Ball plavyer

Choose the correct answer from the options given below:

G, DADB

(o

B, B C

(5]

CA, DB

4.B,D, A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 27 Question Id : 34212314710 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fafaRad uel &1 ged 1o & »H ¥ SHaiyd Sifo 2

A. 94T Raare!
B. TYdiic
C. i
D. did - fgarat

I feu U 9 el § U T 3R &1 994 DIfSIU:

1.C,D,A, B

(]

B, DO

(5]

CA DB
4.B,D, A, C

Options :
1.1



2.2
3.3
4.4

Question Number : 28 Question Id : 34212314711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

I have read that one aspirin taken everyday reduces the risk of heart attack. Why not take two a
day and double the protection." Which informal fallacy is committed in the above statement?

. Fallacy of composition
2. Begging the question
3. Hasty generalisation

4. Slippery slope

Options :
1.1
2.2
3.3
4.4

Question Number : 28 Question Id : 34212314711 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

<A 1gT g o5 U U AT o Y GeuTerd & S &9 gl ol ¢ | 0 fer el aaf A of
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. Gefa ey
2. YT Y

3. AN TETIA

4. TOue gad e

Options :
1.1
2.2
3.3
4.4



Question Number : 29 Question Id : 34212314712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are logically equivalent?

A. Some beverages are not liquids.

B. Some beverages are liquids.

C. Some non-liquids are not non-beverages.
D. Some beverages are non-liquids.

Choose the correct answer from the options given below:

1. Aand B Only

-2

.B. C and D Only
3. B and C Oaly

4. A, C and D Only

Options :
1.1
2.2
3.3
4.4

Question Number : 29 Question Id : 34212314712 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafafad 0 4 oF Y &yq difdd *U Y 9aded g 2

A P UTGI Tl g

B. P9 U4 Ed g

C. PO TR-GdTR - UGl ¢
D.$SUIIR-gd g

A fGu e fasel & 9 HgT IR D1 9G1 BT
|.had A 3R B

HddA B, C AR D

3.HAdB 3R C

4. Hdd A, C 3R D

Options :
1.1
2.2
3.3
4.4

(o

Question Number : 30 Question Id : 34212314713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

According to classical Indian School of Logic (Nyaya) the statement “fire is cold because it is a
substance™ is fallacious because:

L. It has a non-inferentially contradicted middle term.

2. The middle term has an impossible locus.

3. The middle term instead of proving its presence in major term proves its absence.

4. The major term proves Its presence

Options :
1.1
2.2
3.3
4.4



Question Number : 30 Question Id : 34212314713 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

R YT T o Tl () o 39R 98 Y - <341 Siclel ¢ alfeh U8 U Uy
AR

1. 30 T TR SIS 0 § areiiad 58 0 3

2, W9 UG ] U 3RUHd (19U 5|

3. 91 UG, 59 UE H 3901 UM g e o Toird S9! SFuieufd fig e g |
4. T UG, 98I UG H I oiJuiRifd fiig e & ool Tue! Jurefd g del g

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212314714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

In computer Networking, MAC addresses are unique to each device. Which of the following is
the meaning of the term MAC?

1. Medium Access Card
2. Media Address Command
3. Modem Addressing Card

4. Media Access Control

Options :
1.1
2.2
3.3
4.4

Question Number : 31 Question Id : 34212314714 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



SR el H MAC TS Hlh SUSRY o (oL g (G1a) Bld €1 MAC s il
fFrgfeed & g i g o

| HifSar vy F1s
2, HifsT vgu wHis
3. HisH TSR 1S
4. Hifean vt dheldl

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212314715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following “Digital India” themes is incorrectly matched with its purpose?
1. Spoken Tutorial- Learn various free and open-source software all by oneself
2. FOSSEE- Reduce dependency on proprietary software in Educational Institutions

3. e-Kalpa- Create Digital-learning environment for design

4. e-ShodhSindhi- Spread education in Embedded systems and Robotics

Options :
1.1
2.2
3.3
4.4

Question Number : 32 Question Id : 34212314715 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Frafefad & ° o 1 -fsfoied 2fsar 9 SR SHT Jaiei Afed 781 ¢ 2
1. Wi/ SICIRE - 1 TS 31T - G QIHedmR & aR H w2 Wl
2. FOSSEE - Qféfdh G131l # Wiifed dled Gieddy IR (1R & Hf Bl
3. 3. - [SHIEH o foru fSfored - aif aTdraRol 1 Yo & |
4.3 - YRR - Teis s (R U8 Xdifeay 1 e &1 4R & |

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212314716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

With reference to ICT, which of the following statements is true?

. Global Positioning Systems (GPSs) in cars send signals to satellite which then work out
where they are and send this data back to the car.

2. HTTP stands for HyperText Transfer policy.
3. RAM stands for Rapid Access Menory.

4. Geographic Information System (GIS) is a computer based tool for mapping and analysing
things that exist and events that happen on earth.

Options :
1.1
2.2
3.3
4.4

Question Number : 33 Question Id : 34212314716 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. WA A 37 3 TR e TIamR Ui |
3. 39 (RAM) T 34 XUS TqY T B

4, ST SIS freer Yl IR WG <ol 3R e arell geref & TR 3R
fq2el9T & foft Uh DR SHIRT WM 3|

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212314717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Based on the following, which of the following statements is true.
A CD contains 12 music tracks which are of lengths (in minute):
3,7,4,3,5,6,4,5,4,7, 8, 8 and each minute of music requires 12 MB of storage.

1. 512 MB of memory is used for the 12 music tracks.
2. | GB of memory is used for the 12 music tracks.
3. 768 MB of memory is used for the 12 music tracks.

4. If the tracks are to be stored in MP3 format, then each music track will be reduced in size by
90%. The storage that the 12 tracks would require is 69.12 MB.

Options :
1.1
2.2
3.3
4.4

Question Number : 34 Question Id : 34212314717 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 12 TfoT o o fe1U 512 MB W) 1 UG foodll o1l |
2. 12 TfoTeh ¢ o il | 6B HART T ST el el § |
3. 12 T 9 & fef 768 MB HART &I SN fooa ol g
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Options :
1.1
2.2
3.3
4.4

Question Number : 35 Question Id : 34212314718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-1I with List-IT

LISTI LISTII
{Computer Components) {Description)
A JALU [. |Immediate access storage
B. | Control Unit II. |Carries out arithmetical and logical calculations
C. |Pen Drive III. | Directs the input and output flow in the CPU
D. | Main Memory IV. | Secondary/ offline storage

Choose the correct answer from the options given below:
1. A-II, B-TIL, C-IV, D-I
2. A-IL, B-1, C-1V, D-III
3. A-L, B-III, C-IV, D-II
4. A-IV, B-11II. C-I1, D-I

Options :
1.1



2.2
3.3
4.4

Question Number : 35 Question Id : 34212314718 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

a1 91y & 11 B HTH Bl
A |uwayg I | <Y S U9 (ER)
B. [Ge@gie | I |si@viuniy iR aifh® u@ad sl o
c. (3= 11 |4dig H 399e AR 3M3eYC HaTe @ MiaRid &Xdl g |
D. |H9 89N V. |fadiae | 3iE a4 (@Ug) ©Rd

A1 4T U fdhedl # U gt IR &1 994 DI

1. A-IL, B-III, C-IV, D-I

[

. A-IL B-1, C-1IV, D-III
3. A-I, B-II, C-1IV, D-II

4. A-1V, B-1II, C-I1, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212314719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



International Solar Alliance (ISA) is the alliance of countries, most of which lie.
1. Between North Pole ad Tropic of cancer
2. Between Tropic of Capricorn and South Pole

3. At equator
4. Between Tropic of cancer and Tropic of capricorn

Options :
1.1
2.2
3.3
4.4

Question Number : 36 Question Id : 34212314719 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SARIPTT GR Gl (SZTHY) U G BT 16eilS 3, o1 & sifdapi
1. JORl 4 91 b 31 o T YT ¢

2. T 3T d1 <f&uft 4d & Ay [Yd g |
3. YO 3@ R [ g
4. Hp 1 a1 PR 341 & 7 YT 8

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212314720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Biomass

. 1s a carbon cycle neutral fuel

. has significantly higher calorific value then coal

. can be converted in solid, liquid and gaseous fuels
.can be converted into Producer Gas

. can not be obtained from energy crops

MmoOnwpe

Choose the correct answer from the options given below:

1. A. Band C Only

(o

. A, C and D Only
3. B.D and E Only
4. A, B and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 37 Question Id : 34212314720 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SN

A. BT g% MRUS 38 B

B. Bl U HIHI 3iedh IWHY HH 4dl g

C. 319, d¥d 3R 19 59+ H ufvaldd foar ot Ul g
D. USSR 719 § uRafdd fdbar o 9&di g

E. 3ol BOdl U U Jel {1 S 9T |

i feu MU fadhedl © O gat 3R &l 994 SHifoie:
1.$dd A, B3R C

2. Hdd A, C 3R D
3. %9 B. D 3R E
4. HAdA. B3R E




Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212314721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Hydrochlorofluorocarbons (HCFCs), replacement for chlorofluorocarbons (CFCs), have to be
phased out completely by the year

1. 2025
2.2030
3.2035
4.2040

Options :
1.1
2.2
3.3
4.4

Question Number : 38 Question Id : 34212314721 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TARTKIRIBIH (HUH!) B! 68 98 7 g eldRITRIpIed (T 9 0 ) gRI i
e iR i T g 2

1.2025

2.2030
3.2035

4.2040
Options:
1.1
2.2
3.3



4.4

Question Number : 39 Question Id : 34212314722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Softening of hard water is done by

A. Aeration

B. Boiling

C. Lime soda
D. Ozonation

E. Ion exchange

Choose the correct answer from the options given below:

1. A.Band C Only

(]

.B. C and E Only

(]

. B, C and D Only
4. C,D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 39 Question Id : 34212314722 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



HSIR ol Bl fhdd gRT Hg -1 SIdl g 2

A. didd

B. Y

C. T TR

D. TSI

E. 3199 &1 3AIGH - UGH

I feu MU 9 el & 9 FgT SR b1 T8 BHIfSIT:
l.hdd A. B3R C

$HId B, C IRE

. Hdd B, C 3R D

4. HddC.D AR E

Options :
1.1
2.2
3.3
4.4

[

(]

Question Number : 40 Question Id : 34212314723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Due to over fertilization of lakes, quality of fish produced

1. does not change

b3

. Impaires

(el

. Impoves
4. first improves then impaires

Options :
1.1
2.2
3.3
4.4



Question Number : 40 Question Id : 34212314723 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

2l & ifa3dSdu & SR, IATGd HSferd! &f I0raw -
A gIArg

o YR grar gl

4. H U GUR BT ¢ i g 8Idl &

Options :
1.1
2.2
3.3
4.4

—a

[

(el

Question Number : 41 Question Id : 34212314724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The National Knowledge Commission suggested that the proposed national universities should
not have

. Affiliated colleges
2. Public funding
3. Linkage with industries

4. Teaching departments

Options :
1.1
2.2
3.3
4.4

Question Number : 41 Question Id : 34212314724 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T ST = e fe o o et gt gt oo A T g
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1. Yo WRTidelerd

). Graviid e
3. 31 U Wgagd]

4. T4 fam
Options :
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212314725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Who among the following was the principal of Bengal National College, established in 19067

1. Motilal Ghosh
2. Aurobindo Ghosh
3. Satish Chandra Mukharjee

4. Bipin Chandra Paul

Options:
1.1
2.2
3.3
4.4

Question Number : 42 Question Id : 34212314725 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. 3RfdE T
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4. falUa g Urd

Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212314726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Most recommendations of the Calcutta University Commission were influened by

1. The Hunter Commission
2. Wood's Dispatch
3. The Haldane Commission

4. The Indian Universities Commission
Options :
1.1
2.2
3.3
4.4

Question Number : 43 Question Id : 34212314726 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. o3 g
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3. fgee 3T
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Options :
1.1
2.2
3.3
4.4

Question Number : 44 Question Id : 34212314727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following institutions were to play a role in shaping the National System of
Education at higher level under the National Education Policy (1986)?

A. UNESCO
B. UNDP
C.UGC

D. AICTE

E. ICAR

Choose the correct answer from the options given below:

I.A.Band C Only
2.B, Cand D Only
3.A,Cand DOnly

4.C,Dand E Only

Options :
1.1
2.2
3.3
4.4



Question Number : 44 Question Id : 34212314727 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fefcifa 9 fobe TRl IR S SR R 19T R 1t 1986) o afvic g e bl
s e T el o

A,

B.J U Sl U
c.gs gl
D.UMR YA
E 3B U U3R

i feu e faedl § ¥ wpt IR BT DI
|, HadA, B IR C

). HqB,C IRD
3. BadA, C IR D
4. $4dC.DIARE

Options :
1.1
2.2
3.3
4.4

Question Number : 45 Question Id : 34212314728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

The education imparted at Nalanda University was both religious and

1. Irreligious

-2

. Entertaining
3. Secular

4. Business- oriented
Options :
1.1
2.2



3.3
4.4

Question Number : 45 Question Id : 34212314728 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

icial fayfdeed J ved e 4 3R & PR & Al
. 3feTTHEG

2. HARS®
3. Uy fFRUg
4. ARG

Options :
1.1
2.2
3.3
4.4

Sub-Section Number : 3
Sub-Section Id : 342123578
Question Shuffling Allowed : No

Question Id : 34212314729 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix
Question Numbers : (46 to 50)

Question Label : Comprehension



Ethical living is concerned primarily with the interpersonal dimension of our behavior. How do
we treat one another individvally and in groups---and increasingly, other species and the
environment? The key here is that morality brings us info contact with others and asks us to
consider the quality of that contact. We start asking ourselves: ‘Is that the way I should treat
someone else?” ‘Ts that the way someone else should treat me?” Because we have the ability to be
critical of our interpersonal behavior and our interaction with animals, we have the ability to
develop codes and norms to guide that behavior and interaction. Those moral norms and codes, in
addition to a set of virtuous character traits, are what we mean when we talk about ethics.

Ethics poses questions about how we ought to act in relationships and how we should live with
one another. Ethics asks us to consider whether our actions are right or wrong. It also asks us how
those character traits that help humans flourish (such as integrity, honest, faithfulness and
compassion) play out in everyday living. Ethical norms and principles have developed over time
and across cultures, as rational people of goodwill consider human relationships and how human
beings act when they are at their best.

This everyday ethical reflection must occur before we can effectively confront the larger moral
questions. A person who wants to take moral leadership in global issues must take special
responsibility for what is going on inside his or her own self—inside his or her own
consciousness—lest the act of leadership create more harm than good. All of us can be leaders for
good; the choice Is ours.

Sub questions

Question Number : 46 Question Id : 34212314730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ethical living is based on

our own virtuous attributes

our behaviour towards other species
our behaviour towards environment
. material satisfaction

O0wp

Choose the correct answer from the options given below:

1. B and C Only

[

. A and B Only
3. A.Band C Only

4. A,B,Cand D

Options :
1.1
2.2



3.3
4.4

Question Number : 47 Question Id : 34212314731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
Identify the virtuous character traits which help an individual to flourish in life.
A. Integrity
B. Psychophancy
C. Honesty

D. Compassion
E. Faithfulness

Choose the correct answer from the options given below:
1. A, B, Cand D Only
2. A, Cand D Only
3.A,B,CDandE
4. A, C,D and E Only

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212314732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statement is incorrect?
1. Culture is static
2. All cultures have developed their ethical norms and principles over time
3. Rational people of goodwill exist in all cultures
4. Culture is dynamic

Options :
1.1



2.2
3.3
4.4

Question Number : 49 Question Id : 34212314733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

For a good leader it is imperative to have

. resources

[

. daily reflections on his conduct
3. higher educational background
4. belief in spirituality

Options :
1.1
2.2
3.3
4.4

Question Number : 50 Question Id : 34212314734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Quality of our interactions in human relationships is gauged by

1. economic status

o]

. soclal status

e

. Interpersonal behaviour
4. educational background

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314729 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix



Question Numbers : (46 to 50)
Question Label : Comprehension
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Sub questions

Question Number : 46 Question Id : 34212314730 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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D. Hifdd Td®

A fGu e fasel & 9 HgT IR D1 9G1 BT
1.HIAB 3R C
2. Hdd A 3R B
3. HITA. B3R C

4.A.B.C3RD

Options :
1.1
2.2
3.3
4.4

Question Number : 47 Question Id : 34212314731 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. G
B. FICHIRT
C. SAFEN

D, 3G
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2. Had A, C IR D

3. AB.CDIRE

4. $A0A. C.DIRE

Options :
1.1
2.2
3.3
4.4

Question Number : 48 Question Id : 34212314732 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3




4.4

Question Number : 49 Question Id : 34212314733 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 50 Question Id : 34212314734 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

O1d et © gORT 3a1-afdar 1 Tura HEfeiad & gRI a1 Sl ¢ -
1. e fRufd

2, T feyfd

4. Qe gFYH

Options :
1.1
2.2
3.3
4.4

Human Rights and Duties



SectionId : 342123195

Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 92
Number of Questions to be attempted : 92

Section Marks : 200
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 342123579
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 34212314735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Golak Nath case was overruled by the full bench judgment of Supreme Court in case of:

1. IR Cocho
2. Keshavanand Bharat1

3. Bela Bannerjee

4. Minerva Mill
Options :
1.1
2.2
3.3
4.4

Question Number : 51 Question Id : 34212314735 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Tiicidy 1Y e ! fhd G T Wi raerd bl qf iy g1 e &% e
T

1. 313, 3R, DI
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3. Sl afelf
4. forRar g




Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212314736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following is correct about the word Euthanesia as derived from the Greek terms
"Eu’ and ‘Thanos'?

L. *Eu’ means Suffering and ‘Thanos' means Death

[ ]

. *Eu’ means Well and ‘Thanos' means Death
3. *Eu’ means Pain and ‘Thanos' means Disease

4. ‘Eu’ means Merey and ‘Thanos' means Killing

Options :
1.1
2.2
3.3
4.4

Question Number : 52 Question Id : 34212314736 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options:
1.1
2.2
3.3



4.4

Question Number : 53 Question Id : 34212314737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is described as “International Bill of Rights for Women.”

1. Article 1 of the Charter of UN
2. UN General Assembly Resolution No. 2264
3. Convention on Elimination of All forms of Descrimination against Women

4. Commission on status of Women Declaration
Options :
1.1
2.2
3.3
4.4

Question Number : 53 Question Id : 34212314737 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212314738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the core of the concept “ethics of nudge’?

1. Hard push individuals toward a desired action.

(i)

. Voluntary action by the citizens.

(el

. Strict compliance toward an action.
4. Gently steers individuals towards a desired action.

Options :
1.1
2.2
3.3
4.4

Question Number : 54 Question Id : 34212314738 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

AYROT TfAFH 3T ol DT Gl 1 57
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Options:
1.1
2.2
3.3
4.4

[

Question Number : 55 Question Id : 34212314739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘Human Rights Watch’ founded in 1978 was known as which of the following?

1. Climate Watch
2. Rebel Watch
3. Helsinki Watch

4. Third World Watch
Options :
1.1
2.2
3.3
4.4

Question Number : 55 Question Id : 34212314739 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

1978 H G0 -ggA g dia FMufeRad ® U fdd &0 H S 91t 4
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2. Reddig
3. galddl dig
4,948 At dld

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212314740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The Minerva Mills Case, a landmark case of the Supreme Court of India is primarily associated
with establishing which of the following?

1. Rights of the children working in the factories
2. A harmony and balance between fundamental rights and directive principles

3. Uniform Civil Code for the citizens

4, Living wage for industrial and agricultural workers.

Options :
1.1
2.2
3.3
4.4

Question Number : 56 Question Id : 34212314740 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212314741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is a check and balance mechanism, in view of public health and anti-
competitive practices, to prevent misuse of patent right by patent holder?

. Evergreening of patent
2. Secrecy directions by government
3. Compulsory Licence

4. Exclusion Licence

Options :
1.1
2.2
3.3
4.4

Question Number : 57 Question Id : 34212314741 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212314742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT considered a Fabian Socialist?

1. G.D.H. Cole

(i)

. G.B. Shaw

(el

. Sidney Webb

4. Louis Althusser
Options :
1.1
2.2
3.3
4.4

Question Number : 58 Question Id : 34212314742 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212314743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who should convoke the special session of UN General Assembly?

1. The majority of members of security council

(i)

. Security council at the request of economic and social council

(el

. Security Council at the request of majority of members of U.N.
4. Secretary General at the request of Security Council

Options :
1.1
2.2
3.3
4.4

Question Number : 59 Question Id : 34212314743 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4
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Question Number : 60 Question Id : 34212314744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which constitutional amendment introduced 10% reservation for economically weaker sections
(EWS) of the society in Central Government run and private educational institutions?

1. 101st Amendment Act, 2016
2. 105th Amendment Act, 2021
3. 103rd Amendment Act, 2019

4. 104th Amendment Act, 2020

Options :
1.1
2.2
3.3
4.4

Question Number : 60 Question Id : 34212314744 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 101 A1 G A, 2016
2. 105 91 G S, 201
3. 103 o e S, 2019
4. 104 9 GTe S, 2020

Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212314745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When was the convention of the rights of child adopted in the UN General Assembly?

1. 24th January 1982
2. 10th December 1982
3. 20th November 1989

4. 10th December 1989
Options :
1.1
2.2
3.3
4.4

Question Number : 61 Question Id : 34212314745 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

U SR STl H -2 31 & U3 cH A 1508 &l dd 3iviigpd fbar
1. 24 S8 1982
.10 [GTTeR 1982

3.20 19X 1989

4. 10 feTwY 1989

Options :
1.1
2.2
3.3
4.4

]

Question Number : 62 Question Id : 34212314746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following refers to committee of independent experts that monitors the
implementation of state parties obligations under the international core Human Rights Treaties?

|. Treaty bodies
2. Human Rights Committee
3. Human Rights Council

4. Human Rights Watchdogs

Options :
1.1
2.2
3.3
4.4

Question Number : 62 Question Id : 34212314746 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212314747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



‘Four Freedoms’ refer to Freedom of Speech, Freedom of Religion, Freedom from Want, and
Freedom from Fear. This was stated in:

I Proclamation issued by President Franklin D. Roosevelt on Jan 6, 1941
2. Establishment of International Labour Organisation in 1919
3. Great Charter of Liberties granted by King John of England to Barons on June 13, [213.

4, Declaration by European Court of Human Rights on Nov 1, 1998,

Options :
1.1
2.2
3.3
4.4

Question Number : 63 Question Id : 34212314747 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212314748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the composition of the National Commission for Protection of Child Rights?
I. A Chairperson, a Vice-Chairperson and six members
2. A Chairperson and six members
3. A Chairperson, a Vice-Chairperson and five members
4. A Chairperson and five members

Options :
1.1
2.2
3.3
4.4

Question Number : 64 Question Id : 34212314748 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212314749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following is the model of government propounded by Peters Guy in his book,
"The Future of Governing: Four Emerging Models™?

|. Welfare model of government
2. Deregulated model of government
3. Liberal model of government

4, Democratic model of government

Options :
1.1
2.2
3.3
4.4

Question Number : 65 Question Id : 34212314749 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212314750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



When did the charter of United Nations came into force?

1. 26 June 1945

(i)

. 24 October 1945
3. 10 December 1945
4. 29 September 1945

Options :
1.1
2.2
3.3
4.4

Question Number : 66 Question Id : 34212314750 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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[

.24 AR 1945
3. 10 f[GO¥aY 1945
4. 28 THT™ER 1945

Options:
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212314751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Tapping of telephone line has been held to be an invasion and violation of Rights to Privacy and
is permissible only if strict procedural safeguards are in force: This was held in case of:

1. PUCL Vs. Union of India
2. Kharad Suji Vs, State of Uttar Pradesh
3. Maneka Gandhi Vs. Union of India

4. Minerva Mill Vs. Union of India

Options :
1.1
2.2
3.3
4.4

Question Number : 67 Question Id : 34212314751 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212314752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



UN Economic and Social Council established the 'Commuittes on Economic, Social and Cultural
Rights (CESCR) in the vear:

1. 1946
2.1972
3.1993

4. 1986

Options :
1.1
2.2
3.3
4.4

Question Number : 68 Question Id : 34212314752 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. 1946
21972
3. 1993

4. 1986
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212314753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In ‘A Different Voice', Carol Gilligan, has emphasised which of the following concept of ethics?

1. Ethics of Fairness
2. Ethics of Compassion
3. Ethics of Care

4. Ethics of Sisterhood
Options :
1.1
2.2
3.3
4.4

Question Number : 69 Question Id : 34212314753 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212314754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Government of India Act, 1919 codified which of the following?

1. Minto Morley Reforms
2. Montague Chelmsford Reforms
3. Report of Simon Commission

4. Provision of Rowlett Act
Options :
1.1
2.2
3.3
4.4

Question Number : 70 Question Id : 34212314754 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. QISHA 3 &I Ruie
4. el HifEH & T

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212314755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which constitutional Amendment in 2021 resorted the power of State Government to recognise
socially and educationally backward classes (SEBCs)?

L. 100th
2. 120th
3. 110th

4. 105th

Options :
1.1
2.2
3.3
4.4

Question Number : 71 Question Id : 34212314755 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212314756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The classical liberalism seeks to maximize which one of the following?

1. Market

[-2

. State

LS

. Market and State

4. Intervention of State
Options :
1.1
2.2
3.3
4.4

Question Number : 72 Question Id : 34212314756 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

URWRE IRl HafaRad o ¥ fhus! igad 9 & IR &d g2

L. dlvIR
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Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212314757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



European Court of Human Rights came into force on

1. Sept 3, 1998

o]

. Sept 7, 1958

Lad

. Sept 3, 1958
4. Sept 7. 1998

Options :
1.1
2.2
3.3
4.4

Question Number : 73 Question Id : 34212314757 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4. 7 TOdTR, 1998

Options:
1.1
2.2
3.3
4.4
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Question Number : 74 Question Id : 34212314758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Who started Mooknavak (Leader of Dumb)?

1. Mahatma Gandhi
2. Ramabail

3. Jyotirao Phule

4. B.R. Ambedkar
Options :
1.1
2.2
3.3
4.4

Question Number : 74 Question Id : 34212314758 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

UHASD (TS 3G Ste) b fdhu- TR™ fham
L. FIQTEHT 7Tl

RUICIH]

3. SIfcRId Bcd

4. o1 3R TSP

Options :
1.1
2.2
3.3
4.4
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Question Number : 75 Question Id : 34212314759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which is NOT a true statement about Inter American Court of Human Rights?

1. Was established in 1969,

2. Is responsible for promoting Human Rights in independent countries of America,

3. Can issue emergency protective measures order,

4. Is composed of Inter American Commission of Human Rights and Inter American Court of
Human Rights.

Options :
1.1
2.2
3.3
4.4

Question Number : 75 Question Id : 34212314759 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212314760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following was criticised by Mahatma Gandhi?

. Decentralisation

(i)

. Quest for ethical values
3. Community

4. Materialism
Options :
1.1
2.2
3.3
4.4

Question Number : 76 Question Id : 34212314760 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. 9HEr
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Options :
1.1
2.2
3.3
4.4
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Question Number : 77 Question Id : 34212314761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Where is the African Court of Human and Peoples Rights located?

1. Pretoria. South Africa

(i)

. Bamako, Mali

(el

. Arusha, Tanzania
4. Nairobi, Kenya

Options :
1.1
2.2
3.3
4.4

Question Number : 77 Question Id : 34212314761 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

(g

Question Number : 78 Question Id : 34212314762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the main focus of NGO, Buttertly India?

. Children's education

(i)

. Women empowerment

(el

. Gender Justice
4. Child trafficking

Options :
1.1
2.2
3.3
4.4

Question Number : 78 Question Id : 34212314762 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

(g

Question Number : 79 Question Id : 34212314763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Banjul Charter” is another name for:

1. European Charter on Human Rights

(i)

. African Charter on Human and people rights

(el

. Indian Human Rights Charter

4. American Charter on Torture
Options :
1.1
2.2
3.3
4.4

Question Number : 79 Question Id : 34212314763 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212314764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Article 51A (Fundamental Duties) has been inserted by which of the following amendment?

1. 44th Amendment
2. Ist Amendment
3. 42nd Amendment

4. 17th Amendment
Options :
1.1
2.2
3.3
4.4

Question Number : 80 Question Id : 34212314764 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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3. 427 Ge
4. 1791 G

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212314765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which country was the ploneer in creating the institution of Ombudsman?

1. Sweden
2. Finland
3. Denmark
4. Norway

Options :
1.1
2.2
3.3
4.4

Question Number : 81 Question Id : 34212314765 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

(g

Question Number : 82 Question Id : 34212314766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



In the essay, ‘Aeropagitica’ by John Milton which of the following concept was mainly
underlined?

1. Doctrine of Subordination
2. Doctrine of Intolerance
3. Doctrine of Tolerance

4. Doctrine of Tyranny of Majority

Options :
1.1
2.2
3.3
4.4

Question Number : 82 Question Id : 34212314766 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2

3.3
4.4

Question Number : 83 Question Id : 34212314767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



The term *Sustainable Development” became a widely accepted term in which of the following
1987 publications?

. Silent Spring
2. *Our Common Future’ The Bruntland Report

3. The Global Citizen

4. A Blueprint for a Green Future

Options :
1.1
2.2
3.3
4.4

Question Number : 83 Question Id : 34212314767 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212314768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Art 32 is the most important article of the constitution without which this constitution would be
a Nullity.” Who gave this statement?

1. Pandit Jawahar Lal Nehru
2. Dr. BR. Ambedkar
3. Dr. Rajendra Prasad

4. Jai Prakash Narain

Options :
1.1
2.2
3.3
4.4

Question Number : 84 Question Id : 34212314768 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

«3Fw5G 32 AU &1 Wl HEwauyl 3Tasa o fordd o 38 SiaeM 4 8l o g
& foh feam

RIS ERGINE R
2. 31l YR, IS
3, 31 el G

4, g YD R
Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212314769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following facet of citizenship was used by T.H. Marshall?

1. Horizontal Camaraderie
2. Hierarchical Camaraderie
3. Vertical Camaraderie

4. Slanting Camaraderie

Options :
1.1
2.2
3.3
4.4

Question Number : 85 Question Id : 34212314769 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

31, U9, i g1 FRfRad 7 9 ARTRe T & bl 3 Taf b Tl feby 7
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Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212314770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following has been determined by the Hon'ble SC in the case of Stainislaus V
State of MP?

I. that Right to Propagate religion does not include Right to Convert
2. the meaning of Religions instruction
3. the meaning of conscience

4, that Religion cannot be defined

Options :
1.1
2.2
3.3
4.4

Question Number : 86 Question Id : 34212314770 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

TG SHIH & i U] & Gehed § A A BIC H 1 1 G i faped dl
giHigd far g

1. 1o M & TaR-UOR & SR H AR BT DR Tidferd 78
2. i e &1 o
3, 3fdfddd &1 3

4. o o T ORI T fop o1 e

Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212314771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is NOT a proponent of the liberal perspective?

1. 1.S. Mill

[-2

. Rosa Luxemburg
3. THomas Paine

4. John Locke
Options :
1.1
2.2
3.3
4.4

Question Number : 87 Question Id : 34212314771 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fgfRad H 9 $IF 3aR EPHI0 & Udidd gl 87
o uy. |
1 oA

3. YT UA

[

[

—.LI L St
Options :
1.1
2.2

3.3
4.4

Question Number : 88 Question Id : 34212314772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Relationship between the Human-being and Territory with an intension to make a place their
permanent abode is known as

I. Acquired citizenship
2. Domicile
3. Residence

4. Naturalisation

Options :
1.1
2.2
3.3
4.4

Question Number : 88 Question Id : 34212314772 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Ueh I 1 AT R A & b 31 o WY T R T 4T b e o] ]
L L E IS

1. Il TRl

2 W(E‘ﬁlﬁgﬂ}
3, fHarg

4. TRPIBR
Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212314773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which one of the following is the main provisions of Nari Shakti Vandan Act, 2023?

1. Inserted new Article 335A for commencement of reservation
2. The reservation will be provided for 20 years.
3. Inserted Article 332A, which mandates the reservation of seats for women in the Lok Sabha.

4. Inserted Article 330A, which made provision of reservations of seats for women in Lok
Sabha

Options :
1.1
2.2
3.3
4.4

Question Number : 89 Question Id : 34212314773 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

gfcifad H O & 91 id 367 3iffTw, 2023 1 98I TaYH 6
1. S{IRE0T b HRE o fofU a1 3 335 A Ffaw fov

2. 3R 20 Y & fel0 JUCT BT I

3, ﬁﬁ%ﬂ%ﬁamﬂﬁﬁﬁ?ﬁﬂﬁmwﬁﬁwmﬁﬁ% AR B! I
LI

4. T8 317w9g 330 A DI AW fora, Foree it o foerdl o Wi o SIReUl o TraeH
E3y

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212314774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



'Tus Cogens' means:
1. Principles governing the validity of treaties

2. delineating the limits of what states could agree on matter of treaty law.

3. Let the other party be heard
4. Stepping stone for treaty law

Options :
1.1
2.2
3.3
4.4

Question Number : 90 Question Id : 34212314774 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

T DY P A 6
1. Tl &1 dea & Y g

2, WY BT B Tl TR X g R YgAd &l Webdl ¥, JH! 1 1 FReuur o
3R U DI G TS
4, W BT o for FUM

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212314775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following articles of the constitution of India in the order of their chronological
arrangement:

A. Establishment of National Commussion for Scheduled Tribes

B. Promotion of educational and economic interests of weaker sections.
C. Abolition of untouchability

D. Establishment of National Commission for Scheduled Castes.

Choose the correct answer from the options given below:

1.C,B,D,A
2.A,C,D,B
3.B,A,C,D
4.D,B,A,C

Options :
1.1
2.2
3.3
4.4

Question Number : 91 Question Id : 34212314775 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

YR & GiqyH A Ffciad sesel &1 7 DIhind [d-0rd & 51 H aiid &y

A, 9 HHIH R IS 3 &I R

B. U 7 & Q&/ford Ud afdep il bl Ticeigt o
C. SRR B HeH

D. 9 AT BN WS SR &l Rl

4 fGU T fadeul # U 5T SR B 98 Do

1.C,B,D,A

2.A,C,D,B
B AGD
4.D.B.AC

Options :



1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212314776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Identify the correct sequence of sections in the Protection of Human Rights Act. 1993

A. Procedure with respect to Armed Forces
B. Human Right Courts

C. Special Public Prosecutor

D. Constitution of NHRC

Choose the correct answer from the options given below:
. s
2C.B. DA
3. D.4,B.C

4. B.C,A.D

Options :
1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 34212314776 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



T4 YHR G AT, 1993 & GUS| & TI HH & UgdH
A. Y Scl ¥ Wreid ufchand

B. AMANYPR ATy

c. [a=N o eSS
D. TAU 3R T Tiayr

I feu U f[ad el § U T 3R &1 994 DI

.A,D,C,B

[

G, Bk

(5]

DA B €
4.B,C,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 34212314777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is chronological order of the establishment of the following committees and commissions?

A, Second Administrative Reforms Commussion of India

B. I.S. Verma Committee on Amendments to Criminal Law

C. Dinesh Goswami Comumittee on Electoral Reforms

D. National Commission to Review the Working of the Constitution

Choose the correct answer from the options given below:
1.A,B,C.D
2.D,C,B,A
3.C.DAB

4.D,B,C,A

Options :
1.1



2.2
3.3
4.4

Question Number : 93 Question Id : 34212314777 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Fafaiad gfaal sk ST S W91 $T HIdHH F1 8?2

A. YR &1 fgdid U=me—e YUR S/

B. RIS A H Y IR S, UY. ga7 9iHfd

C. gTdl GYRT GR fe-=r Mieart gfafd

D. YA ©T Hr=iicdr B FHIET & g APTg

A [SU T fadmedl H ¥ T 3R &1 994 HIfoIU:

1.5 B, C.D

2.D,C,B.A
3:C,DAB
4.D,B.C,A

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212314778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is the chronological order of the following landmark cases?

A. Indira Sawhney V Union of India

B. Golak Nath V State of Punjab

C. Shankari Prasad V Union of India

D. S.R. Bommai V Union of India

E. Keshavanand Bharatt V State of Kerala

Choose the correct answer from the options given below:

1. B C A ED

(]

B FoA D

5]

By B DA
4.C B, E.D;A

Options :
1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 34212314778 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fEfaRad gg<ayul GheHl &I SIdhd I g2

A. 3R T1gH 59 g e it
B. Tlidd 1Y 9419 e A1 Usld

C. P UHTG S99 A 241 gfvsar
D.TH WWWWWW

E. HRAH-G HR §9H T 3 B
i feu MU fadhedl © O gat 3R &l 994 SHifoie:

1B, €A B, D

(]

A BEAD

[F¥]

W e i

4.0 B, E; DA



Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212314779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Regulatory Bodies in chronological order:

A. Insurance Regulatory and Development Authority

B. Competition Commission of India

C. Telecom Regulatory Authority of India

D. Pension Fund Regulatory and Development Authority
E. University Grants Commission

Choose the correct answer from the options given below:

1L.EC & B.D

b3

BB A D

[

BB B
4.E.B,D. A, C

Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 34212314779 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



fafaiad fafame FaEl &f SIa-dsd § Jafed &
A. SRAR-Y W] UUS Sdaud= Yikel
B. HIACRH HHIA 31 Sfusar
C. ol T Wgeed] 3URET 3 gfuga
D. TR HUS ] UUS Sddud YRl
E. gHaidd ary HHITH
A feu U [qdeti § 9 a7 IR &1 99 HISIT:

LE A B, B

(]

EBAED

L

.E,B,AD,C

4. E,B,D,A,C
Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212314780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Acts in the chronological order of enactment:

A. Protection of Human Rights Act
B. Special Marriage Act

C. Administrative Tribunal Act

D. Juvenile Justice Act

E. Right to Information Act

Choose the correct answer from the options given below:

1.A,B,C,D,E

(]

B AR D

3.D,A,BCE

4.B.C, A, D.E



Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 34212314780 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frgfeRad sifafgal o 396 g & Sreadbd § Hafeyd o

A. HIG {TYBR YR&T fYaH
B. fa=IY faarg sifefray

C. URImEd 3 or sfufan
D. fh2IR =g sfefay

E. G- &1 AUDHR Afef4aq

id feu U fadhetl € 9 g7 IR &I 98- HIT:

Lo B DL B

(]

EEABD
3. DA BCE

4.B,C, A,D.E
Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212314781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following in order of their creation/coming into effect:

A. American Convention on Human Rights

B. Statute of Inter-American Court

C. Inter-American Commission on Human Rights

D. Inter-American Convention to Protect and Punish Torture

Choose the correct answer from the options given below:

1.C,A,B,D

[

A B.C.D

(5]

D, CB, A

4.B,C,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 34212314781 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frgfafad o1 396 Faio yurdt 89 & &0 § Hafud &Y

A. HRSH H-9]H 3[4 ggHA UscH

B. L& 3 <X ARG DIC

C. 3R URB HHITH 3{H ggHA UscH

D. 37X HHRBH B ¢ Uidde TS G-I e’

I feu U 9 el § U T 3R &1 994 DIfSIU:

1. C,A,B, D

(o

A, B.C.D

(5]

P CRH A
4.B,C A, D

Options :
1.1



2.2
3.3
4.4

Question Number : 98 Question Id : 34212314782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Following Judicial decision relate to definition of ‘State’, arrange them in chronological order
(ascending):

A. Ajay Hasia Vs. Khalid Sehrawady
B. Pradeep Kumar Biswas Vs. Indian Institute of Chemical Biology

C. Parmatma Vs. Chief Justice
D. Zee Telefilm Vs. Govt. of India

Choose the correct answer from the options given below:
.C,A,B,D
2.AB.C.D
3B.ACD
4.C,B,AD

Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 34212314782 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



RIS DI R ¥ iR i e ol &l S (RIg § orafdd -

A. ST BT I Ifer HeRiad]

B. W10 PR 4% &1 200 Seeye 1% difidd drlalal
C. TRHTEA T 1 SRy

D. 51l Celfthed] ST R TWhR

i fu U fodedt # ¥ 7T SR &l 95 Dol

1.C,A,B,D

2.A,B.C,D
3:B.ACD

4.C,B,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212314783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following in order of their appearance in the Articles of the Constitution of India
(ascending order)

A. Parliament can increase or diminish the area of any state
B. India is a Union of States

C. Parliament has power to regulate on matter of citizenship
D. Discrimination is prohibited on gound of Religion, Caste, Sex, or Place of Birth.

Choose the correct answer from the options given below:

1.B, A,C,D
2.A,B,C,D
3.C,B,A,D
4.D,A,B,C

Options :



1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 34212314783 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

o YR a0

fRTeRad @ YRA & GiduH & 3ffwdcl § Seo@ & HF (IRTg] ) H T fRd $<

A. T 4! I & &30 ol 961 41 9T Gl gl

B. YIRd o0l 1 U T 3|

C. U9 & Urg ARGl & Tl R S S B Al 3|
D. 4, ITd, feff, 34l SFHRIM & 3R R Hewid g g

14 feu U fdmedl § U T8t SR &1 994 Difv:

1.B, A,C,D

2.A,B,C,D
3.C,B,AD
4.D,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212314784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following in order of amendment of the constitution which gave them effect,

A. Added Art. 31A and IX Schedule

B. Omission of Art. 19(1)(f) and Art. 31
C. Insertion of Art. 31C

D. Added Art. 31D

Choose the correct answer from the options given below:
1.A,C,D,B
2.A,B.C,D
3.D,B.C,A

4.B,C,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 100 Question Id : 34212314784 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fmferRad &1 Ty & 3 Uie & HH H Hafid B3 oR 38 UHIal s/

A, TG 31A IR Tl ST BT IS
B. H®¢ 19(1)(f) AR 3=ic 31 Bl fdal
C. 3TE5G 31C BI AP
D. 3{&G 31D Bl ASl
A1 feu T fadedi § 9 WaT IR B 994 DIl
|.A,C,D,B
2.A,B,C,D
3.D,B,C,A

4.B,C,A,D

Options :
1.1



2.2
3.3
4.4

Question Number : 101 Question Id : 34212314785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following Fundamental Duties in order of their appearance in Article S1A.

A. Respect the National Flag and National Anthem.
B. Cherish the ideals of National Freedom Struggle.
C. Uphold Sovereignty and Integrity of India.

D. Defend the country when called upon.

Choose the correct answer from the options given below:
.A,B,C,D
2.B,C,AD
3.C,A.B,D

4.D,A,B,C

Options :
1.1
2.2
3.3
4.4

Question Number : 101 Question Id : 34212314785 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



afeiRad g dodedl @1 e 514 H 3 Jeoid & hH § Hafeyd B

A. BT G SR I PT JHH DY

B. TP WA WY & AR} &1 Ty 7
C. YRd ®I YT 3R 3RAUSd DI 91U 9
D. 3TAH TS TR P B JR&l 3

Hid flGu U fad el H U @gT 3R &1 994 SHiU:

1.A,B,C,D

2.B,C,A,D
3.C,A.B.D
4 D.AB.C

Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212314786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following existing and repealed Preventive Detention Laws in order of their coming
into force:

A. Preventive Detention Act

B. Maintenance of Internal Security Act

C. Prevention of Terrorism Act

D. National Security Act

Choose the correct answer from the options given below:

.A,B.D,C

2A:B.CD

3.C,ABD

4.D,B,C,A

Options :



1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 34212314786 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

giciRgd A1SET 3R TE U T FaRe faXid & & 376 i | o & pa o
GIGIRIGETY

A, IR oI affefaam

B. 3TN YA FRET e
C. TG by ey

D. XTBTT Y& 3Hfeam

HTd feu U fadhed! | O W8T SR &1 90 Do

1.A,B,D,C

2.A,B,C,D
3.C,AB.D

4.D,B,C.A
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212314787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Arrange the following acts related to women in their chronological order of enactment:

A. Protection of Women from Domestic Violence Act

B. Dowry Prohibition Act

C. Indecent Representation of Women (Prohibition) Act

D. Pre-Conception and Pre-Natal Diagnosis Technique (Prohibition of Sex Selection) Act

Choose the correct answer from the options given below:
[.LA,B,C,D
2.B,C,D,A
3.C,D,AB

4.B,A,D.C

Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 34212314787 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

erat § vy fergfeiiRaa sttt &l e Y & SIaha o afyd &

A, T foan 9 et ot e i

B. agol (N Sffefgm

. Feerdlt 1 afegfa it ) sty

D. T4- YR 3R G009 HaTHE ddeii ({eift g &1 Fu) s

A< feu e fadhedi H ¥ §gT SR &1 99 BT

1.A,B,C,D

2.B,C,D,A
DA R
4.B.AD,C

Options :
1.1



2.2
3.3
4.4

Question Number : 104 Question Id : 34212314788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following provisions in the Declaration on Rights to Development, 1986 in the
chronological order.

A. States have the duty to co-operate with each other in ensuring development.

B. All human rights and fundamental freedom are indivisible and interdependent.

C. Sustained action is required to promote rapid development of developing countries.
D. All human beings have a responsibility for development, individually and collectively.

Choose the correct answer from the options given below:
I.LA,C,D,B
2.B,D,A,C
3.CBAD
4.D,A,C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 34212314788 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



[ApT &1 HYDR, 1986 D1 G190 H FHHfcRad WAy &l SIehd H iy o3

A, T3 &1 GG B3 T Udh-G8R BT GgaIT A1 Iod] bl died |

B. T AHATHR 3R Teld WAl 3Mfaued AR i g1

. famresiia =il & i [ & Uicre & folt yd fohl SMawad g
D. §1 T T ob fefu GeRard 8, ek U U 3R Trfgd 0 4 4ff|

14 lGu U fadedl H U FgT SR &1 I8 DI

l.A,C,D,B

2.B.D,AC
3.C,B,AD
4.D.A.C,B

Options :
1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212314789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Arrange the following conventions in the chronological order of their adoption by the General
Assembly of UN:

A. Convention on Rights of Persons with Disabilities
B. Convention on Rights of Child

C. Convention on the Rights of all Migrant Workers and their families
D. Convention on Economic, Social and Cultural Rights

Choose the correct answer from the options given below:

I.D,B,C.A
2.D,C,B,A
3.A,B,D,C
4.B,C,AD

Options :



1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 34212314789 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

i VR i WH Y

RICiRGd P03 1 YU SR THcl g1 STOR B & I ¥ aafesd Y

A, B0 A1 ey 31 T foe fsufaferdiar

B. B0 3 5 31 IR

C. H==H I X5y I Hid HZU dbd 108 G G
D. 4= 3 SHIIHD, G TG Beekal Weey

A fGU e fadhedl H T FgT IR B 9H BINT:

1.D,B,C.A

2.D,C,B,A
3ABDC
4.B,C,A,D

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212314790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following provisions are made in the Rights of Persons with Disabilities Act, 2016
to promote and facilitate inclusive education?

A. to conduct survey of school going children in every two years for identifying children with
disabilities.

B. to establish adequate number of teacher training institutions.

C. to train professionals and staff to support inclusive education.

D. to establish adequate number of resource centres to support education institutions

Choose the correct answer from the options given below:

I.A,Band C only
2.A.Band D only
3.Band C only

4.B, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 34212314790 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



TSl e I d Ud GaeriT &1 o feai ofdd ifeR s, 2016 H
Fgfdigd § 9 HH ¥ e fhr e

A, T dTc] i 1 UgaH B o oIt el &l ui H faeierd S aTet el ol Taequ

Bl

B. A ST T ST I SRl bl U]

C. G 181 1 Hga g URIaRi Ud &I 1 Hiierd He
D, SIfed YR o WU g W1eH gl bl G T

i feu U faedl 49 75T IR &1 T DIl
1. HIdA, BTG C

) B9 A, BUED
3. HIqB T C
4. HddB,CcTdD

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212314791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What does Article 15 of International Convention on Economic, Social and Cultural Rights
(ICESCR) prescribe?

A. Evervyone has right of social insurance.
B. Everyone has right to education.

C. Everyone has right to the fullest enjoyment of highest standards of mental health
D. Everyone has the right to enjoy the benefit of scientific progress.

Choose the correct answer from the options given below:

I. Aand C only
2.Band D only
3. Conly
4.D only

Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 34212314791 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

SJRIFTa i, Wl U Wik fid ofieR qwe (SMEHiTadieon) & g 15
G G WE AT R

A. U P YA S &1 UHR §

B. U o (18 &1 PR ¢

C. U Pl AN WA o 3 TR &1 J01 A o Pl APR
D. T P! a1 Wil b THI B 30 o o1 SRPR E

I fGu U fadedl © ¥ @8t IR a1 9 DT
| Gad ATd C

). HddBTE D
3. Hae C
4.HIAD




Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212314792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are salient features of Member of Parliament Local Area Development
Scheme (MPLADS)?

A. MPLADS was launched in 1992.

B. MPLADS funds are released in the form of Grant-in-aid.

C. MPs have a recommendatory role under the scheme.

D. Rajva Sabha members can recommend works anywhere in the state from which they are
elected.

Choose the correct answer from the options given below:

I. A, BandD only
2. A, Band Conly
3.B, Cand D only

4. A, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 34212314792 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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C. U TS B G1el & RIS YHST eI ¢
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A1 feU U fqaedl § U FgT SR &1 904 DI
|, $9d A, B.UdD

) HAd A BT C
3. $ddB.cTdD
4, $ad A, CTID

Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212314793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following statements are true with respect to European Court of Human Rights?

A. Setup in 1959
B. Can rule on state applications alleging violation of civil and political rights set out in

European Convention of Human Rights
C. Is based n Strasbourg
D. Individuals cannot apply to it directly
Choose the correct answer from the options given below:
[.A, CandDonly
2. A, BandD only
3. A, Band Conly

4.B, Cand D only



Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 34212314793 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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A. 1959 H R fopar T _
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id fu U fdedl # ¥ T T 61 95 Hifol:
| $dd A, CTdD

). Hdd A, BTID
3. BdAA, BTG C
4, BddB, CTED

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212314794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is included in Article 13 of the International Convention on Economic,
Social and Cultural Rights (ICESCR)?

A. Availability and adaptability

B. Accessibility, Acceptability and Adaptability

C. Acceptability and Affordability

D. Accessibility, Affordability

E. Availability, Accessibility, Acceptability and Adaptability

Choose the correct answer from the options given below:

I. Aand D only
2. E only
3. Aand C only

4. B only

Options :
1.1
2.2
3.3
4.4

Question Number : 110 Question Id : 34212314794 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212314795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are NOT patentable in India in view of public health?

A. Discoveries of living things

B. Traditional knowledge

C. Any treatment method to render human and animals free of disease
D. Inventions leading to progress which are novel and inventive.

Choose the correct answer from the options given below:

1.B, C and D only
2. A.Band D only
3. A.Band C only

4. A, Cand D only



Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 34212314795 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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B. IRWNATT M
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4 fGu U f[dseul § O el IR &1 944 DI
1.$Hdd B, C WD

2. HddA.BUA D
3. Hdd A BUd C
4. Hdd A, cTED

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212314796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following are parts of the theme declared by David Cooper on World Day to
Combat Desertification in 20247

A. United for Land.

B. United for Land. Our Legacy.

C. Our Legacy. Our Earth.

D. Our Land. Our Sahara.

E. United for Land. Our Legacy. Our Future.

Choose the correct answer from the options given below:

1. Aand C only

v

2. Aand D only
3.Bonly

4. E only

Options :
1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 34212314796 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A G a8 SR 2024 H HRRICHHR & foeg W g fay feaw 1 fehg ofiwr ot o
Gl

A, il & feu gisd|

B. YA  feru i | gAR favid

C. BART faRTd | GHRT g

D. FARI e | GHRT ¥

E. YA o fore i | gAR! foRmed | R Hiaw|

i feu e faedl § ¥ wpt IR BT DI
1. Had A IR C

2. Hdd A IR D
3. hdd B
4. HIAE

Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212314797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following offences are inserted by Bharatiya Nyaya Samhita 2023 (BNS)?

A. Hate speech

B. Same sex marriage
C. Terrorism

D. Mob lynching

Choose the correct answer from the options given below:

l. Aand B only
2.B.Cand D only
3.A.Band D only

4. A, Cand D only



Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 34212314797 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. HaAB,CTED
3.HadA,BTID
4. Had A, cTED

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212314798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following statements are correct about UNESCO?

A. UNESCO's global priority includes gender-equality.
B. UNESCO's global priority includes tourism and culture.

C. UNESCO's vision includes the premise that peace must be founded upon by dialogue and
mutval understanding.

D. UNESCO contributes to peace and security by promoting international cooperation in
Education, Science, Culture etc.

Choose the correct answer from the options given below:

I. A, Band C only
2.B, Cand D only
3. A, Band D only

4. A, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 34212314798 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212314799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the Fundamental Right are available only to citizen of India?

A. Equality of opportunity in matters of public employment
B. Cultural and Educational rights of minorities

C. Equality before law and equal protection of law

D. Freedom of religion

Choose the correct answer from the options given below:

1. A and C only

[-2

. A and B only

T

. C and D only

4. Aand D only



Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 34212314799 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

frfeRad | O & U Hifdld AR dad HRd & TRIRS| Bl Juds g2
A. S ISR & HIH H 3AGIR D] YA
B. 3{CTE] D] Gipidd Td 0D 3UBR
C. B & U FAM AR HIH B TaM GRE
D. Y& WelAdl

HHd fGu U faded! § U @ SR 1 994 DIT:
I.Hadd A 3R C

2. Had A AR B
3.Had C IR D
4. Had A 3R D

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212314800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



“Special Procedure” by Human Rights Council includes which of the following?

A. Special Rapporteurs

B. Independent Experts

C. Working Groups

D. NGOs and Civil Society

Choose the correct answer from the options given below:

1. B, C and D only
2. A,Band C only
3.A.CandD only

4. A.B and D only

Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 34212314800 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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|.$ddB,CUWD

2. hdd A, BT C

3.hdd A, CTED

4. Had A, BUGD

Options :



1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212314801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following cases are known as “Food Petitions™?

A. Kishen Pattnayak V State Orissa

B. Indian People Front V State of Orissa

C. Saifuddin V State of Bombay

D. Bandhua Mukti Morcha V Union of India

Choose the correct answer from the options given below:

1. Aand B only

[

.B and C only

(]

.C and D only

4. D and A only

Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 34212314801 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212314802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are part of the guiding principles of Foreign Policy according to
Kautilya?

A. Cultivation of Allies

B. Enemies can be eliminated

C. War to be preferred to peace

D. Ruler must behave just in victory and defeat

Choose the correct answer from the options given below:

[. A, BandDonly
2.Band D only
3. Aand C only

4.Band C only



Options :
1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 34212314802 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212314803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following rights are ensured under Bharatiya Nagarik Suraksha Sanhita (BNSS)
2023?

A. Right to file Zero FIR and E-FIR

B. Right to have a copy of FIR without any delay

C. Right of the victim to be heard before the withdrawal of a case
D. Right not to be in police custody for more than seven days.

Choose the correct answer from the options given below:

I. A, Cand D only
2. A, Band D only
3. A, Band Conly

4.B, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 34212314803 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212314804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following could be considered as defining a soft state?

A. Selective use or absence of use of coercive instruments of state power.
B. A lenient attitude of state towards social deviance.
C. Introduced by Gunnar Myrdal in *Asian Drama’

D. The apparatus of army, police judiciary operate by means of coercion.
Choose the correct answer from the options given below:

I. A, Band C only
2. A.CandD only
3.B. Cand D only

4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 34212314804 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212314805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following is correct about “the convention against torture and other cruel, inhuman
or degrading treatment or punishment’?

A. Was adopted by the General Assembly in December 1975.
B. The team torture is an intentionally inflicted physical or mental act.

C. An order from a superior officer or a public authority may be lnvolved as a justification of
torture.

D. No state party shall expel, return (refouler) or extradite a person to another state where
he/she would be in danger of being subjected to torture.

Choose the correct answer from the options given below:
1. A, Band C only
2. Aand B only
3.A,Band Donly

4.Band C only

Options :
1.1
2.2
3.3
4.4

Question Number : 121 Question Id : 34212314805 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212314806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



According to the Protection of Women from Domestic Violence Act.. 2005, domestic violence
includes which of the following?

A. Conduct of sexual nature that abuses humiliates, degrade or violates the dignity of women.
B. Causing bodily pain, harm, danger to life, limb or health.

C. Access to the shared household.

D. Alienation of household assets whether movable or immovable.

Choose the correct answer from the options given below:
I.A,Band D only
2. A, Band C only
3.A, Cand D only
4. Aand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 34212314806 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212314807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following cases do not specifically relate to Article 21 of the India Constitution?

A. Maneka Gandhi Vs The Union of India

B. State of Maharashtra Vs Ravikant S Patil
C. Bandhua Kukti Morcha Vs Union of India
D. Indira Gandhi Vs Raj Narain

Choose the correct answer from the options given below:

[. A, Band C only
2. Aand C only
3. Aand D only

4. Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 34212314807 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212314808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Which of the following are true in respect of UDHR?

A. UDHR 1948 contains 30 Articles.
B. It enumerates postulates and principles of Human Rights.

C. 20 Articles are related to civil and political rights.

D. 10 Articles cover economic and social rights.
Choose the correct answer from the options given below:

1. B and C only

2. A and B only

3. C and D only

4. Aand D only

Options :



1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 34212314808 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Hd feu U fadheti § U g1 IR &1 98- SIfoT:
1. hIdB AR C
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3.9del C 3R D
4. BT A ARD

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212314809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Which of the following options relate to the *Declaration of the Rights of Man and Citizen'?

A. 1789 French Revolution

B. Symbiosed official declaration of Independence by American colonies.
C. Storming of the Fortress of Bastille, A State Prison

D. Symbiosed end of autocracy and the old regime in France.

E. Life, Liberty and pursuit of happiness.

Choose the correct answer from the options given below:

I. B, D and E only
2.A.Dand E only
3.C,Dand E only
4. A, Cand D only

Options :
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 34212314809 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212314810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

Match the List-I with List-IT

LIST1I LISTII
{Author) (Books)
Ernest Mandel [. | The Dialectics of Sex
Kate Millet II. | An Introduction to Marxist Economic Theory

Michael J. Sandel III. | Sexual Politics

=N Rel Rl

Shulamith Firestone | IV, | Liberalism and 1ts Critics

Choose the correct answer from the options given below:

1. A-I, B-1V, C-III, D-1II

b2

. A-1, B-1I, C-III, D-IV

[F5]

- A-TV, B-III, C-I1, D-I
4. A-II, B-1I1, C-1V, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 126 Question Id : 34212314810 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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2. A-I. B-1I, C-III, D-IV
3. A-IV, B-1II, C-1I, D-1

4. A-I1, B-1II, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212314811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII
(Statement of Law) (Articles of Constitution)
A It 1s the duty of state to apply the directive principles L |Ar 33
B. | Executive powers of the Union shall be vested in the President| I [Art 37
C._ | Adult suffrage I | Art 100
D. | Speaker of the House 1n Parliament has only casting vote IV. |Art 326

Choose the correct answer from the options given below:
1. A-II, B-1, C-IV, D-III
2. A-IV, B-IIL, C-I1, D-1
3. A-IIL B-IT, C-I, D-IV

4. A-I. B-IV. C-IIL, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 34212314811 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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- feu e fadhedi § © Tel SR &1 98- Bifeie:

1. A-II, B-1, C-IV, D-III
2. A-1V, B-1II, C-1I, D-1
3. A-IIL, B-1I, C-1, D-IV

4. A-1, B-1V, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212314812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LIST1I LISTII
{(National Commission) (Chairperson)
A | National Commission for Protection of Child Fights | I | Kishor Makwana
B. | National Commission for Minorities II. | Antar Singh Arya
C. | National Commission for Scheduled Castes III. | Privank Kunongo
D. | National Commission for Scheduled Tribes IV. | Igbal Singh Lalpura

Choose the correct answer from the options given below:

1. A-IIT, B-11, C-1, D-IV
2. A-III B-IV, C-1, D-II
3. A-IV, B-1II, C-II, D-1

4. A-IV, B-11, C-I. D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 34212314812 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-III, B-II, C-1, D-IV
2. A-II1, B-1IV, C-1, D-1I
3. A-IV, B-1II, C-1I, D-I

4. A-IV, B-1I, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212314813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
{Authors) (Books)
A |Thomas Paine | I | Master and Man
B. |Rousseau IT. | Prison Notebooks
C. | Tolstoy I1I. | Common Sense
D. | Gramsci IV. | The Social Contract

Choose the correct answer from the options given below:
1. A-IIT, B-IV. C-I, D-II
2. A1, B-II, C-1I1, D-1IV
3. A1, B-IV, C-III, D-1I
4. A-III, B-IV. C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 129 Question Id : 34212314813 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IIT, B-IV. C-I, D-II

Dlo|w|*

2. A-I. B-1I, C-III, D-IV
3. A-1, B-IV, C-III, D-I

4. A-II1, B-IV, C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212314814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTH
(Statement) {Author)
A | ‘Fraternity’ 1s principle of cooperation [ |Dr. BE Ambedkar
B. | Socialist” and “Secular” are not capable of clear definition | II. | Justice Jeevan Reddy
C. | "Govt of one country by two nations ™ 11 | Subhash Chandra Bose
D. |England's difficulty was India's opportunity IV, | Ernest Barker

Choose the correct answer from the options given below:
1. A-IV, B-IL, C-1, D-III
2. A-IL B-I, C-II, D-1IV
3. A-L B-III, C-IV, D-II
4. A-II, B-IV, C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 34212314814 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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B. | -gurearer 3R <o fuer @ Ty ufvume gnia e e | | 1 |9 Siga vt
C. | a1 T &R 0% ¢ B WAR- I | QU T &1
D. | 3703 Bl Bid-Tg HRA B HTER | IV. | 3+ dra

14 feu e fadhetl § § g1 SR &1 794 BifT:

1. A-IV, B-II, C-I, D-III
2. A-IL B-1, C-II, D-IV
3. A-l, B-III, C-IV, D-II

4. A-I1, B-1V, C-III, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212314815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-II

LISTI LISTII

{Organisation) {Year of Establishment)
A | Amnesty International L. 1978
B. |Human Rights Watch II. 1961
C. | African Commission on Human and People's Rights I11. 1986
D. | European Court of Human Rights IV. 1958

Choose the correct answer from the options given below:
1. A-II, B-1, C-IIL D-IV
2. A-IV, B-III. C-11, D-1
3. A-L B-II, C-IV, D-III
4. A-IIL B-IV. C-1. D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 34212314815 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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C. | i HHE HH §gHH U Uuey I5c | 1L | 1986
D. | QUG BIE 3B ggHA AscH V. |1958
- feu e fadal # 9 gt SR &1 791 DI

1. A-IT, B-1, C-III, D-IV
2. A-IV, B-II1, C-11, D-1
3. AL B-1I, C-1V, D-1II

4. A-II1, B-IV, C-1, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212314816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Concept) (Meaning)
A | Complex equality [ |Self-realisation
B. | Posttive freedom II. | Equality of opportunity
C Social justice in the context of I Svstem of distribution that does not try to equalise all
" deserts "| goods
D. |Formal equality IV, | Giving each person what 15 due

Choose the correct answer from the options given below:
[. A-IIL, B-1, C-IV, D-IT
2. A-IV.B-IIL, C-I1. D-I
3 AL BILCL DIV
4. A-IL, B-III, C-IV, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 34212314816 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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L. A-IIL B-I, C-IV, D-II
2. A-IV, B-1II, C-II, D-I
3. AL B-IL, C-1, D-IV

4. A-IL B-IIL C-IV, D-1I
Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212314817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Pre Independence Activity)) (Year)

Cripps Mission I 1930

Cabinet Mizssion from Britamn II. | 1947

Mountbatten Plan III. | 1946

= Rel R e

Commencement of Constitution | IV. | 1942

Choose the correct answer from the options given below:
1. A-IV, B-II1, C-II, D-I
2. A1, B-II, C-1I1, D-1IV
3. A-IILL B-1, C-IV, D-II
4. A-II. B-IV, C-I, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 34212314817 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse

I IT
mﬂﬂﬁﬁf‘m ﬁ(::ln;f)
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C. | a3 sea @M 1. [ 1946
D. | G &1 U™ IV. | 1942
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1. A-IV, B-III, C-II, D-I
2. A-I. B-1I, C-III, D-IV
3. A-1IL, B-1, C-1V, D-II

4. A-II, B-1V, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212314818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

{Acts) (Years)
A | Surrogacy (Fegulation) Act I [2016
B. | Information Technology Act II. | 2021
C. | Transplantation of Human Organs and Tissues Act | IIL | 2000
D. | Anti- Hyacking Act V.| 1994

Choose the correct answer from the options given below:
1. A-I. B-II, C-III, D-IV
2. A-IL. B-III, C-1, D-IV
3. A-IL, B-III, C-IV, D-I
4. A-II. B-IV, C-III, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 34212314818 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



A 1 1Y gl 11 61 i Hifse
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D. | 3rggur faRieh sifafas V. | 1994
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1. A-I, B-II, C-III, D-IV
9. AL B C1 DAV
3. A-II, B-III, C-IV, D-1I

4. A-II, B-1V, C-III, D-1

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212314819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Judgement/Case) (Main Point of Law)
A Hussain Khatoon Vs Home I Improve living conditions of inmates at protective home for
| Secretary " |women

B. | Sheela Barse V State of Maharashtra | II. | Compensation i case of custodial torture

C. |Rudul Shah Vs State of Bihar III. | Custodial violence against women

D. ;’i;iﬂ;& Sieal Vibointe.of Hias IV. | Petition on behalf of prisoners long awaiting trials

Choose the correct answer from the options given below:
1. A-IV, B-IIL, C-IL, D-I
2. A-LB-II, C-IV, D-III
3. A-IL B-1V, C-1, D-II
4. A-IL B-L, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 34212314819 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-IV, B-III, C-II, D-I
2. A-L B-IL C-IV, D-III
3. AL B-IV. C-I, D-II
4, A-IL B-I, C-IIL D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212314820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
{Authors) {Books)
A | Winston Churchill| I. | Two Concepts of Liberty
B. | Eve Ensler II. | The Great Democracies
C. | Barrack Obama I1I. | Vaginal Monologues
D. |Isaiah Berlin IV | Audacity of Hope

Choose the correct answer from the options given below:

1. A-I, B-II, C-IIL, D-1IV
2. A-1I, B-1I1, C-1IV, D-1
3. A-IILL B-1V, C-1, D-1I
4. A-IV, B-11, C-I, D-ITI

Options :
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 34212314820 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV

o[o[w|»

2. A-II, B-1II, C-1V, D-1
3. A-IIL B-IV, C-1, D-II

4. A-IV, B-11, C-1, D-III

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212314821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII

{Conference) (Place)
Fourth World Conference on Women, 1995 I |'Vienna
World Conference on Human Rights, 1993 II. | Tehran

International Conference on Human Rights, 1968 | III. | Durban

=N Rel R e

World Conference on Racism, 2001 IV. | Beying

Choose the correct answer from the options given below:
1. A-IV, B-1, C-II, D-III
2. A-IIL, B-1I. C-1V, D-1
3. A1, B-IV, C-III, D-1I
4. A-II, B-III, C-I, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 137 Question Id : 34212314821 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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C. |geH=Hd By 3H TgHA A5y, 1968 | 111 | 564

D.|des BHih<g 34 EH, 2001 IV, | St
i feu T fasedl § 9 |el SR 61 999 DI

1. A-IV, B-1, C-II, D-III
2. A-IIL B-11, C-1IV, D-1
3. A-1, B-IV, C-III, D-I

4. A-IL, B, C-1, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212314822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI , L,IS.I i ,
i T (Article No. in the Indian
(Provisions of Indian Constitution) Constituti
onstitution)
A No person shall be deprived of his life or personal liberty except I lagos
"|according the procedure established by law ' -
The state shall not discriminate against any citizen on grounds only of
;e : IL A 21
religion, race, place of birth
C. | To move freely throughout the territory of India M. |Art 135
D. Frgednm of conscience, and free to profess, practice and propagate V. [ar 190)
religion.

Choose the correct answer from the options given below:

1. A-L B-II, C-II1, D-IV
2. A-IL B-IIL, C-IV, DI
3. AL B-IV, C-III, D-I

4. A-IV, B-[, C-III, D-II

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 34212314822 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. AL, B-II, C-III, D-IV
2. AL B-IIL, C-IV, D-I
3. A-IL, B-IV, C-III, D-1

4. A-IV, B-L, C-III, D-II
Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212314823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Titles of Books) (Feminist Authors)
A | Gender Trouble I | Ann Oakley
B. | Woman's Work: The Household. Past and Present | II. | Juliet Mitchell
C. | Psvchoanalysis and Feminism III. | Bell Hooks
D. | Yearning: Race, Gender and Cultural Politics IV | Judith Butler

Choose the correct answer from the options given below:
1. A-I. B-II, C-III, D-IV
2. A-IL. B-III, C-IV, D-I
3. A-IV, B-1, C-II, D-III
4. A-III, B-IV. C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 34212314823 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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1. A-I, B-II, C-III, D-IV
2. A-II, B-1II, C-1V, D-1
3. A-IV, B-1, C-1I, D-III

4. A-II1, B-IV, C-I1, D-I

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212314824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



Match the List-I with List-IT

LISTI LISTII
(Thinker) (Perspective)
Gramsci I. |Liberal

Thomas Paine | II. | Dalit

Naravan Guru |II1. | Gandhian

=N el R e

Thoreau IV, | Marxist

Choose the correct answer from the options given below:
1. A-IV, B-1, C-III, D-II
2. A-1, B-IV, C-III, D-I
3. A-IV, B-1, C-II, D-III
4. A-1, B-1I, C-III, D-IV

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 34212314824 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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4 fau U fasedl § O et 3R &1 994 Hif:

1. A-IV, B-1, C-III, D-II

Dlo|w|*

2. A-1, B-1IV, C-III, D-1I
3. A-IV, B-1, C-1I, D-III

4. A-1, B-1I, C-1II, D-IV

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 342123580
Question Shuffling Allowed : No

Question Id : 34212314825 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension



Read the passage carefully and then answer the question:

Development is typically associated with the overall wealth of states and is often linked to
indicators such as ‘growth’, “per capita income’ and ‘balance of payments etc. The particular
indicators of this types of development are intended to measure the overall wealth of states, not
the well-being of their citizens. The measurement of human well-being is a relatively new
phenomenon in the economics and human rights literature. Human development is thus defined
as enlarging people’s choices, chief among these being the ability to lead a long and healthy life,
be educated and to enjoy a decent standard of living. The first human development report noted
that although income helps to formulate human choices it is merely a ‘means’ and not an ‘end’. It
distinguished between two sides of human development: ‘The formation of human capabilities
such as improved health or knowledge and the use that people make of their capabilities, for work
or leisure.” It identified three key indicators that may be used to measure human development,
namely longevity, knowledge and decent living standards.

Sub questions

Question Number : 141 Question Id : 34212314826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What should be considered the real wealth of a nation?

|. Financial wealth

[

. High GDP

LS

. Accumulation of commodities
4. People's well-being

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212314827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What is traditionally considered the “essence of development’?

1. Human well-being

(i)

. Wealth of States

(el

. Per Capita Income

4. Growth
Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212314828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What is human development?

1. Economic growth

[

. Enhancing people's choices
3. Income generation
4. Increasing equality

Options:
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212314829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0



What are key indicators used to measure human development?

1. Income, knowledge and decent living standards

-]

2. Income, longevity and standard of living

(el

. Income, longevity and knowledge
4. Health. education, and living standards

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 34212314830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

What are the two-sides of human development?

1. Wealth of states and people's well-being

-]

2. Financial growth and people's well-being
3. Formation of human capabilities and use of capabilities
4. Formation of wealth and well-being of people

Options :
1.1
2.2
3.3
4.4

Question Id : 34212314825 Question Type : COMPREHENSION Sub Question Shuffling Allowed
: Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (141 to 145)
Question Label : Comprehension
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Sub questions

Question Number : 141 Question Id : 34212314826 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

fh ! AP BT AR el AT S 1302
1. fa<irg ¥uer

2. 3o Yol U] IdIG
3. GG DT T BT

4. AT BT ST

Options :
1.1
2.2
3.3
4.4

Question Number : 142 Question Id : 34212314827 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 34212314828 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 144 Question Id : 34212314829 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

(el

Question Number : 145 Question Id : 34212314830 Question Type : MCQ Option Shuffling : No
Correct Marks : 2 Wrong Marks : 0

04 f9br & &l Ugd &1 82

1. I BT Y 3R AN BT STl
fa<iia i oR artl &1 s
3. {14 &3 BT A0 3R SDT SUTT
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As a body of thought, ecofeminism embodies different strands of arguments. In patriarchal
thought, women are identified being closer to nature and men as being closer to culture. Nature is
seen inferior to culture, hence women are seen inferior to men. The idea that women are seen as
closer to nature than men was initially introduced by Shreey Ortner though Ynestra King and
Carolyn Merchant argue that the nature —culture dichotomy is a false one being a patriarchal
ideological construct used to maintain gender hierarchy. But they accept the view that women are
ideologically construed as closer to nature because of their biology. Social anthropologists
believe that nature-culture divide is not universal across all cultures, while Ariel Kay Salleh
believes in women's consciousness in biology and in nature. Vandana Shiva notes that destruction
of nature becomes destruction of women’s source for staying alive as third world women are
dependent on nature for drawing substance for themselves, their families, and their societies. The
violence against women and nature are linked ideologically as well as materially.
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Who held the view that nature-culture dichotomy is a false one?

1. Sherry Ortner

[

. Carolyn Merchant

LS

. Ariel Kay Salleh

4. Vandana Shiva
Options:
1.1
2.2
3.3
4.4
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Which of following maintains the view that violence against women and nature are linked not
Just ideological but also materially?

. Carolyn Merchant
2. Ynestra King
3. Ariel Kay Salleh

4. Vandana Shiva

Options :
1.1
2.2
3.3
4.4
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Which of the following statements reflects patriarchal thinking?

1. Man is closer to nature

3

. Men are inferior to women

LS

. Nature is inferior to culture

4. Women are close to culture
Options:
1.1
2.2
3.3
4.4
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Which school of thought considers that nature-culture divide is not universal across all cultures?

|. Patriarchal thought

2. Feminist thought

3. Social anthropological thought
4. Environmental school of thought

Options :
1.1
2.2
3.3
4.4
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Whose work projects women's consciousness in biology and nature?

1. Ynestra King

3

. Carolyn Merchant

LS

. Sherry Ortner
4. Ariel Kay Salleh

Options :
1.1
2.2
3.3
4.4
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